

Whisper X350 Gen II Inclusive Kit Price

Date: 7-Aug-18

	Whisper X350 Gen II Quick Build Kit	
X350 G2 IFR	Inclusive airframe kit includes items below in addition to complete airframe and composite consumables.	\$121,919.10
Included:	AeroLED External Light Kit, Voltage Regulator, Concord Platinum Battery, Pitot AOA Heated, Boost Pump, Fuel Selector Valve, Aero-Classics Oil Cooler, Master Solenoid, Starter Solenoid, High Pressure Gasolator, Weldon Fuel Pump, Capacitance Fuel Level Senders, Cabin Heat Assembly	
	Engine - Lycoming YIO-360-M1B - 180HP (Fixed Pitch or Constant Speed) Motor (Fuel Injected).	
	Propeller - 2 Blade Whirlwind GA200L 72" Ground Adjustable Propeller	
	Instrument Panel - Dynon Avionics IFR: 2 x SV-HDX1100/A 10" SkyView HDX Displays, 1 x SV-HDX800/A 7" SkyView HDX Display, Monitoring of EGT, CHT, Oil Temp, Oil Pressure, RPM, Fuel Levels, Fuel Flow. SkyView VHF Radio / Intercom & VHF Antenna, SkyView Mode S Class 2 Transponder, Aircraft Grade Tefzel Wiring, Two-Place Stereo Intercom, Circuit Breakers and 2 axis Auto Pilot.	
	Lights - AeroLeds SunSpot 36LX Landing and Taxi Lights (pair), AeroLeds Pulsar NS NAV / Position / Strobe LED Lights (pair)	
	Custom Leather Interior	
	2 week assisted buildshop at our facility	
X350 G2 VFR	Inclusive airframe kit includes items below in addition to complete airframe and composite consumables.	\$119,553.90
Included:	AeroLED External Light Kit, Voltage Regulator, Concord Platinum Battery, Pitot (un-heated), Boost Pump, Fuel Selector Valve, Aero-Classics Oil Cooler, Master Solenoid, Starter Solenoid, High Pressure Gasolator, Weldon Fuel Pump, Capacitance Fuel Level Senders, Cabin Heat Assembly	
	Engine - Lycoming YIO-360-M1B - 180HP (Fixed Pitch or Constant Speed) Motor (Fuel Injected).	
	Propeller - 2 Blade Whirlwind GA200L 72" Ground Adjustable Propeller	
	Instrument Panel - Dynon Avionics VFR: 2 x SV-HDX1100/A 10" SkyView HDX Displays, 1 x SV-HDX800/A 7" SkyView HDX Display, Monitoring of EGT, CHT, Oil Temp, Oil Pressure, RPM, Fuel Levels, Fuel Flow. SkyView VHF Radio / Intercom & VHF Antenna, SkyView Mode S Class 2 Transponder, Aircraft Grade Tefzel Wiring, Two-Place Stereo Intercom, Circuit Breakers and 2 axis Auto Pilot.	
	Lights - AeroLeds Pulsar NS NAV / Position / Strobe LED Lights (pair)	
	Custom Leather Interior	
	2 week assisted buildshop at our facility	
X350 G2 Kit Only	Airframe kit includes items below in addition to complete airframe and composite consumables.	\$49,498.00
Included:	The Whisper X350 Gen II Kit includes all items and hardware required to complete a standard kit, this includes all control assemblies and Grove wheels and brakes.	

N.B

Prices quoted are subject to USD/RAND and/or EURO/RAND exchange rates. Whisper Aircraft standard conditions of sale apply. This quote is valid for 10 Days. Terms of Payment: Full Payment at order, unless otherwise specified. Errors and Omissions Excluded. All Prices Subject to Change.





Whisper Aircraft (Pty) Ltd, Registration no 2016/150292/07
 Hangar DS, Mosselbay Airport, 69 Rooikat Street, Alwyndal, Mossel Bay, 6500, South Africa.

AIRCRAFT Tel: +27 83 3010 452 | sales@whisperaircraft.com | www.whisperaircraft.com

Whisper X350 Gen II Kit Price

			Date:	7-Aug-18
	Description:	Price:	Select:	Total:
	Fuselage			
Included:	Parts for the construction of complete Fuselage, Fin and Cowls, Landing Gear including all control assemblies. Aircraft Fuselage Cowl with Oil and Inspection Door Landing Gear Assembly - Grove Wheels and Brakes Control Stick Assembly Throttle Assembly Rudder Pedal and Independent Brake Assembly - Adjustable			
Optional:	Quick Build Option - Complete the Fuselage and Gear for me. Ballistic Recovery System - Magnum 901 Additional Fuel Tank (Fuselage) - 80 Liters (21 US gallons) "Tail Dragger" Configuration Dual Left and Right Controls - 2nd Rudder Pedal, Independent Brake Assembly and Throttle Assembly Luggage Door - Back Manually Adjustable Cabin Heater	\$4,171.67 #REF! \$575.00 \$0.00 \$0.00 \$415.00 \$408.33	○ ○ ○ ○	\$ - \$ - \$ - \$ - \$ - \$ - \$ - \$ - \$ -
	Wings			
Included:	Parts for construction of complete set of wings. Wings, Flaps, and Ailerons Flaps Assembly Control Assemblies Hinges Wing Tanks 120I (31.5 US Gal) per wing or 240I (63 US Gallons) total.			
Optional:	Quick Build Option - Complete the Wings, Ailerons and Flaps for me.	\$4,425.00	0	\$-
	Empennage			
Included:	Parts for the construction of complete Horizontal Stabilizer and Rudder. Horizontal Stabilizer and Elevators Control Assemblies Hinges Elevator Assembly Rudder			
Optional:				

Quick Build Option - Complete the Empennage for me.

\$4,250.00

\$

_

Page 1 of 3

	Canopy			
Included:	Complete Canopy and Fitment Assemblies.			
	Canopy pivot arms			
	Gas lifts			
	Canopy Locks			
Optional:				
	Quick Build Option - Complete the canopy for me!	\$1,041.67	\bigcirc	\$ -
	Light Dark Tint	\$0.00	Ō	\$ -
	Blue Tint	\$0.00	\bigcirc	\$ -
	Clear (No Tint)	\$0.00		\$ -

Final Assembly & Finishing

Includes everything required to effect final assembly of aircraft. Included: Wheel Spats and Fairings including Valve Access Doors Spinner and Mounting Plate Avionics Panel and Standard Interior Maintenance Manuals, Construction Log Book, Pilot's Flight Manual X350 Gen II Motor Plenum Optional:

Custom Italian Leather Interior and Carpets: A full-leather interior, generously crafted seats (with perforated accents), leather inner lining of the doors, as well as black leather trims, offers an elegant and sporty result; which fits perfectly into the overall concept of the X350 Gen II.	\$2,916.67	Ø	\$ 2,916.67
Paint and Paint Consumables: 3 Stage Baslac® Pearl base paint enhances the smooth flowing lines of which only a composite plane can benefit. Various paint options available. baslac® offer the best possible finish for all solid, metallic and pearl colors. They are simple to apply and are accompanied by perfect color matching support.	\$1,897.83	0	\$ -

Total Price for the Complete X350 Gen II Kit

The X350 Gen II Kit includes all items required to complete a standard kit, however, does not include the motor, motor mount or avionics. The items below, marked, are required to complete your aircraft to fly, however can be sourced by the customer themselves.

Required Parts

\$ 5,696.08

49,498.00

\$

Included

These items are required to complete the aircraft and is usually not supplied with the kit. Customer can source the items seperatly or order everything from www.aircraftspruce.com, list available on request.

Additional Options:		Price:		Select:	Total:	
Complete to Fly:						
	Lycoming YIO-360-M1B - 180HP (Fixed Pitch or Constant Speed) Motor (Fuel Injected).	ć	28 600 00		ć	28,600.0
	• •	\$	28,600.00		\$,
	Lycoming/Superior Engine Mount (Engine Mount Only)	\$	1,791.67	\checkmark	\$	1,791.6
	Fuel System - Auxiliary Fuel Pump, Selector Valve, Filters, Pipes, Firesleaves, Fuel Level, etc.	ć	1 435 95		ć	1 425 0
		\$	1,435.85	\checkmark	\$	1,435.8
	Firewall Forward Kit - Lycoming O-360 (Exhaust, Gascolator, Solenoids, etc.)	\$	3,074.80		\$	3,074.8
	2 Blade Whirlwind GA200L 72" Ground Adjustable Propeller	\$	2,650.00	\checkmark	\$	2,650.0
	3 Blade AXSport Carbon Fiber C/S Propeller - Oshkosh Launch	\$	7,916.67		\$	-
	Miscellaneous (Not Included In Kit, Unless Specified)	\$	1,933.45		\$	1,933.4
ights:						
.5	Lights - AeroLeds SunSpot 36LX Landing and Taxi Lights (pair)	\$	698.00		\$	698.0
	Lights - AeroLeds Pulsar NS NAV / Position / Strobe LED Lights (pair)	\$	929.00	 V 	\$	929.0
ngines:	ULPower 520i - 180HP (ULP95 or Avgas) Motor.	\$	24,800.00		\$	-
	ULPower 520iS - 200HP (ULP98 or Avgas) Motor.	\$	25,650.00		\$	-
	Lycoming YO-360-A1A - 180HP (Fixed Pitch or Constant Speed) Motor.	\$	27,500.00	0	\$	-
	Lycoming YIO-360-A1B6 - 200HP (Fixed Pitch or Constant Speed) Motor (Fuel					
	Injected).	\$	33,000.00		\$	-
	Lycoming YIO-390-A3B6 210HP (Fixed Pitch or Constant Speed) Motor.	\$	32,800.00	<u> </u>	\$	-
	Superior XP360 - 180HP, (Fixed Pitch or Constant Speed) Motor	\$	27,800.00	0	\$	-
	Superior XP360 - 180HP, (Fixed Pitch or Constant Speed) Motor (Fuel Injected).	\$	29,750.00	0	\$	-
Other:	4 Stack Titanium CP2 into 4 Exhaust	\$	2,166.67	0	Ş	-
	Fire Extinguisher, First Aid Kit with Emergency Signal Strips	\$	376.75	0	\$	-
vionics:						
woncs.	Garmin GTR 200 VHF Radio / Intercom & VHF Antenna	\$	1,338.00	\bigcirc	Ś	-
	Sandia STX 165R Remote Transponder - Mode - S	\$	1,520.00		\$	-
	MGL Avionics: 8.5" MGL Explorer EFIS Main Flight Display, complete	Ŷ	1,520.00	0	Ŷ	
	independent 7" MGL Discovery EFIS, used as an Engine Monitoring Display, EGT, CHT, Oil Temp, Oil Pressure, RPM, Fuel Levels, Fuel Flow, Circuit Breakers, Garmin GTR 200 VHF Radio / Intercom & VHF Antenna, Sandia STX 165R			0		
	Remote Transponder - Mode - S	\$	7,500.00	0	\$	-
	Dynon Avionics IFR: 2 x SV-HDX1100/A 10" SkyView HDX Displays, 1 x SV-					
	HDX800/A 7" SkyView HDX Display, Monitoring of EGT, CHT, Oil Temp, Oil					
	Pressure, RPM, Fuel Levels, Fuel Flow. SkyView VHF Radio / Intercom & VHF					
	Antenna, SkyView Mode S Class 2 Transponder, Aircraft Grade Tefzel Wiring, Two-Place Stereo Intercom, Circuit Breakers and 2 axis Auto Pilot.					
		\$	23,100.00		\$	23,100.
	Dynon Avionics VFR: 2 x SV-HDX1100/A 10" SkyView HDX Displays, 1 x SV-	Ļ	23,100.00	_	Ý	20,100.0
	HDX800/A 7" SkyView HDX Display, Monitoring of EGT, CHT, Oil Temp, Oil					
	Pressure, RPM, Fuel Levels, Fuel Flow. SkyView VHF Radio / Intercom & VHF					
	Antenna, SkyView Mode S Class 2 Transponder, Aircraft Grade Tefzel Wiring,					
	Two-Place Stereo Intercom, Circuit Breakers and 2 axis Auto Pilot.					
		\$	21,832.80	\bigcirc	\$	-
		Ŷ	21,032.00	\bigcirc	Ŷ	

N.B	Totals:		
Prices quoted are subject to USD/RAND and/or EURO/RAND exchange rates. Whisper Aircraft standard conditions of sale apply. This quote is valid for 10 Days. Terms of Payment: Full Payment at order, unless otherwise specified. Errors and Omissions Excluded. All Prices Subject to Change.	MSRP Kit Total: Kit Discount: Kit Total: Optionals: Opt Disc:	0%	\$ \$ \$ \$
Banking Details:			
	Total Order Price	:	\$

WHISPER AIRCRAFT

49,498.00 49,498.00 72,421.10 -

121,919.10

Whisper X350 Gen II Aircraftspruce.com order list:

art Number:	Description		QTY	Unit	Total
	Description		UT II	UNIT	rotal
6-15600	Tailwheel springs with clips/chains	tailwheel steering	0	\$33.50	\$0.00
5-28667	Locking fuel cap, threaded flange		2	\$75.00	\$150.00
5-00042	Back nut, fuel cap		2	\$10.85	\$21.70
67954	Camloc stud	cowling	20	\$4.45	\$89.00
002-G	Camloc grommet	cowling	20	\$1.40	\$28.00
44-16	Camloc receptacle floating	cowling	20	\$4.65	\$93.00
8-3-M	Nicopress sleeves for 1/8" cable(05-03295)	elevr/rudder cables	20	\$0.33	\$6.60
N100C-4	Thimbles	elev/rudder cables	20	\$0.24	\$4.80
N135-16S	Turnbuckles	elevator cables	2	\$26.50	\$53.00
IS20257P3-6	Piano hinge folded 6' length(03-00049-6)	flaps (3' lengths)	3	\$11.75	\$35.25
IS20001P3-6	Piano hinge extruded 6' length(03-00052-6)	ailerons/elevator	1	\$62.75	\$62.75
IS20220-2	Pulley 3" for 1/8" cable	elevator cables	2	\$31.50	\$63.00
5000-08	Anchor nuts 8-32 metal floating	covers/spats	100	\$0.78	\$78.00
N426AD	Rivets 3/32"*1/4" (1/4 lb)	attach anchor nuts	1		\$0.00
IS24693C50	SS mach screws 8-32 1/2"	covers/spats/ail/elev	400	\$0.09	\$36.00
N366F-428	1/4" anchor nut	ail/spats/canopy	8	\$15.50	\$124.00
5-17700	Finger Strainer	fuel tank	2	\$7.50	\$15.00
	°				
OLTS					
N3-12	rudder ped lower master cylinder pivot		4	\$0.65	\$2.60
N3-12A	rudder pedals		8	\$0.19	\$1.52
N3-15	turnbuckle to stick		2		
N3-16A	elevator drives		2	\$0.77 \$0.22	\$1.54
N3-16A N3-6	elevator drives rudder ped upper master cylinder pivot			\$0.22	\$0.44 \$8.26
			14	\$0.59	\$8.26
N4-10	rudder pedals		8	\$0.69	\$5.52
N4-10A	rud cable to horn/cable junction		10	\$0.23	\$2.30
N4-11	cable attach elev bcrank,rud pedal		12	\$0.68	\$8.16
N4-11A	elev bellcrank/rudder pedal slider to f/wall		20	\$0.28	\$5.60
N4-11A	rear spar attach&big ail pushrod to bellcrank		6	\$0.28	\$1.68
N4-12	rudder pedal lower pivots		8	\$0.74	\$5.92
N4-12A	rudder pedal sliders		8	\$0.28	\$2.24
N4-12A	pushrod to stick		2	\$0.28	\$0.56
N4-14A	pushrod to flap&pushrod to aileron		4	\$0.29	\$1.16
N4-15A	small ail pushrod to bellcrank		2	\$0.35	\$0.70
N4-20A	elev bcrank clamp/axle attach		12	\$0.38	\$4.56
N4-21A	tailspring attach		2	\$0.38	\$0.76
N4-36A	ail bellcrank pivot		2	\$0.96	\$1.92
N4-4A	spat rear attach		2	\$0.17	\$0.34
N4-5	rudder cable slider adjusters		10	\$0.59	\$5.90
N4-5A	elevator pulley brkt attach		4	\$0.22	\$0.88
N4-6	canopy door pivot		4	\$0.68	\$2.72
N4-0	aileron pushrod joint at wing root		4	\$0.08	
N4-7A	rudder hinges attach		16		\$1.40
	-			\$0.21	\$3.36
N5-20A	elevator pulley pivot		1	\$0.66	\$0.66
N5-21A	undercarriage attach		4	\$0.68	\$2.72
N5-23	joystick pivot		2	\$1.25	\$2.50
N6-12A	tailspring attach		1	\$0.56	\$0.56
N6-17A	undercarriage attach		2	\$0.74	\$1.48
N6-31A	Engine mount to firewall		4	\$1.43	\$5.72
N7-16A	tailwheel to spring attach		1	\$1.62	\$1.62
N7-35A	engine to mount (dynafocal mount only)		4	\$2.62	\$10.48
N8-43	engine to mount (conical mount only)		4	\$4.85	\$19.40
YLOC NUTS					
N365-832A	ail/elevator hinges		400	\$0.13	\$52.00
N365-1032A	rudder pedals+spare		100	\$0.11	\$11.00
N365-428A	elevator pulley brkt attach+various		100	\$0.13	\$13.00
N365-524A	var		100	\$0.16	\$16.00
N365-624A	engine mount to firewall+various		20	\$0.26	\$5.20
N365-724A	tailwheel to spring		20	\$0.26 \$0.97	\$5.20 \$0.97
N345-428	rod end check nuts		20		
N345-428 N363-720			20	\$0.08	\$1.60
1000-120	engine to mount (dynafocal only)		4	\$2.15	\$8.60
ACTLE NUTO					
ASTLE NUTS					
N310-3	master cylinder assy,rudder pedals +var		40	\$0.67	\$26.80
N310-4	rudder pedals		40	\$0.89	\$35.60
N310-5	various		20	\$1.05	\$21.00
N310-6	t/wheel+var		10	\$1.31	\$13.10
N310-8	engine to mount (conical only)		4	\$2.77	\$11.08
ASHERS					
N970-3	various		50	\$0.08	\$4.00
N970-4	various		50	\$0.10	\$5.00
N970-6	tailspring attach+various		50	\$0.21	\$10.50
N960-416	various		100	\$0.03	\$3.00
N960-516	rear wing attach+spare		50	\$0.04	\$2.00
N960-616	undercarriage attach		50	\$0.04	\$2.00
N960-316	various		50	\$0.04 \$0.04	\$2.00
N960-816			20		
	engine mount (conical only)			\$0.07	\$1.40
N960-716	engine mount (dynafocal only)		20	\$0.05	\$1.00
4-00392	spats&hinges		50	\$0.12	\$6.00
OD ENDS					
5-01643	Ailerons (short pushrod) + flap pushrods GMM-4M-470		10	\$17.80	\$178.00
4-00906	Aileron pushrods GMM-4M-675		4	\$21.50	\$86.00
OTTER PINS					
524665-360	wheel nuts / elev brcrank		10	\$0.08	\$0.80
	set (various)		1	\$27.00	\$27.00

Page 1 of 2

Part Number:				
TYRES/TUBES				
06-05000	5.00-5 Flight Mate tube	3	\$89.00	\$267.00
06-05100-3	5.00-5 Tyre 6 ply flight custom	3	\$165.00	\$495.00
GROVE PARTS OR EQUIV				
06-00102	Grove 500 x 5 Nose Wheel Model 59-1	1	\$373.00	\$373.00
06-00399	Tail wheel Assy 45deg	0	\$288.00	\$0.00
06-00094	500-5 wheel / brake set 50-1A	1	\$945.00	\$945.00
06-00601	axle 5018	2	\$71.75	\$143.50
06-11800	axle nut 5510	2	\$11.75	\$23.50
06-00852	axle spacer 5710	4	\$7.50	\$30.00
06-00097	master cylinder With reservoir 675-1	1	\$287.95	\$287.95
06-00866	master cylinder without reservoir 670-2	1	\$238.95	\$238.95
	(order if using dual brakes)			
Controls				
05-16972	A-950 PUSH-PULL CONTROL 72"	2	\$39.85	\$79.70
5-02600	AN665-21L Terminal Assembly	2	\$12.25	\$24.50
5-00811-3	Silicone black .93 thick	5	\$1.95	\$9.75
11-10508	CS8 Aircraft Grip	2	\$109.00	\$218.00
05-04300	7x19 SS 1/8" cable	165	\$1.18	\$194.70
Composite				
01-14600	3M GLASS BUBBLES	2	8.75	\$17.50
01-14800	FLOCKED COTTON FIBER	2	4.65	\$9.30
01-42155	AEROPOXY LAMINATING EPOXY PR2032 RESIN 5gal	1	494	\$494.00
09-05268	AEROPOXY EPOXY PH3660 HARDENER 2.5gal	1	187.75	\$187.75
01-00642	Bidirectional Fiberglass 38" RA7725	9	7.75	\$69.75
01-01546	DERMA-LITE NITRILE DISPOSABLE GLOVES (Select Size)	1	9.5	\$9.50
09-38825	WOOD BRUSHES 2.5"	20	0.75	\$15.00
01-14825	3 OZ POLYESTER RELEASE PLY	3	9.95	\$29.85
09-04578	PUREWIPE® WOODEN DEPRESSOR STICKS	1	2.2	\$2.20
01-00416	EPOXY MIXING CUPS 8oz	1	10.75	\$10.75
Shipping:				
JPS Freight - Not for US Orders		1	\$223.00	\$223.00
	Total:			\$5,696.08

Optional Items

	Firewall Forward (Not Included In K	t, Unless Specified)			
08-00641	AERO-CLASSICS AVIATION OIL COOLER		1	\$309.00	\$309.00
10-02158	DYNON AOA/PITOT HEATED		1	\$438.00	\$438.00
15144 11-03172	PITOT NON HEATED IGNITION SWITCH A510-2 & LOCK SETS		0	\$38.00	\$0.00
			-	\$174.95	\$174.95
11-06870	SLICK STYLE P-LEAD		4	\$33.00	\$132.00
08-03500	SPECIAL HEAVY DUTY MOUNT SET		1	\$449.00	\$449.00
MS21919-WCH4	WIRE CLAMPS		20	\$1.13	\$22.60
11-0361	MASTER SOLENOID 111-226		1	\$30.50	\$30.50
11-03162	STARTER SOLENOID 22735		1	\$9.65	\$9.65
07-03463	GB24 B&C GROUND BLOCK		1	\$34.75	\$34.75
05-00907	GASCOLATOR MOUNTING FLANGE		-	\$21.85	\$21.85
11-03882	CONCORDE RG-35AXC PLATINUM BATTERY		1	\$319.00	\$319.00
05-04248	ACS HIGH PRESSURE GASCOLATOR		1	\$114.75	\$114.75
07-01321	HARTZELL PLANE POWER ALTERNATOR		1	\$759.00	\$759.00
09-00979	S/S FIREWALL PEN SEAL KIT 1"		1	\$59.75	\$59.75
		Total:			\$2,874.80
	Fuel System (Not Included In Kit, Ur	less Specified)			
40100N	FACET SOLID STATE ELECTRIC FUEL PUMP, 32GPH		0	\$41.50	\$0.00
08-07082	WELDON 18000 FUEL PUMP	Fuel Injection	1	\$799.00	\$799.00
05-17700	FINGER STRAINERS	•	2	\$7.50	\$15.00
	SAF-AIR SPECIALTY FUEL DRAIN VALVE		2	\$25.95	\$51.90
05-00978					
05-00978 05-11467	SPRL V3-4P-C Duplex fuel valve with conforming selector		1	\$228.00	\$228.00
	SPRL V3-4P-C Duplex fuel valve with conforming selector NEWTON SPRL FITTINGS		1	\$228.00 \$11.95	\$228.00 \$11.95

Total:

\$1,235.85

Miscellaneous (Not Included In Kit, Unless Specified)

AR-	Custom AeroRocker Backlit Switches with PWM Dimmer	1	\$495.00	\$495.00
11-11605	RAC ELECTRIC TRIM SYSTEMS T2-10A	1	\$289.00	\$289.00
Bruce's	Canopy/Cockpit/Fuselage Covers	1	\$400.00	\$400.00
7277-1-4	KLIXON CIRCUIT BREAKER (estimate)	15	\$35.00	\$525.00
11-04473	MIL SHIELDED TEFZEL WIRE - WHITE	1	\$1.95	\$1.95

11-01321	RAC POS-12 POSITION SENSOR	1	\$37.50	\$37.50
11-07728	ELECTRONIC FLAP ACTUATOR / INDICATOR	1	\$185.00	\$185.00
	Total:			\$1,933.45

N.B

Prices quoted are subject to USD/RAND and/or EURO/RAND exchange rates. Whisper Aircraft standard conditions of sale apply. This quote is valid for 10 Days. Terms of Payment : Full Payment at order, unless otherwise specified. Errors and Omissions Excluded. All Prices Exclude VAT. All Prices Subject to Change.

Page 2 of 2